OD(TP) WS/TP RES/OD RES/EVA/INV/MV/CS To Inspect Vehicle No: SDZ 1669 E at Workshop m/s Vin's Motor of 160 Sin Ming Drive #	T. 1 (1.00.210)
To Inspect Vehicle No: SDZ 1669 E at Workshop m/s Vin's Mofor of 160 Sin Ming Drive #	T. 1 (1.00.210)
at Workshop m/s Vin's Motor of 160 Sin Ming Drive #	T. 1
of 160 Sin Ming Drive #	
	08-09
Policy No:	Claim No: _ MEMD/105/009/2019/00
Sum Insured:	Excess:
Make of Veh: (Client's Record)	D.O.A 2/10/2019
CA / REV / REP. / REV 24 HRS	H.O.D. Endorsement:
Date/Time: 10.30umo 3/10/19 Person Contacted:	Raymond Vehicle IN OUT
Date/Time Action/Instruction () Estimate	V
SDZ1669E-X	
UBC 9634- X	

Date/Time, File Pass to? : Preli. Re	eport Days Of Repair: (C	(2 weeks end)
Dale/Time, File Relium to?	eport Resurvey No. of Trip:	Survey Fee: 200
11 11 - typist	Add Fee: Site Insp (\$)3+R8SI
1. 01.	: Interview (\$) Photos
report Format :	: Fech, Invs 6) (al)ete
ump Sum / LEE: (3	: What and (8	
		70TAL 270

Nivitha (LKK Auto)

From:

Hafizul Farhan RAHMAT (SPF) < Hafizul_Farhan_RAHMAT@spf.gov.sq>

Sent:

Thursday, 3 October 2019 8:57 AM Admin-D (LKKAuto); assignments

To: Cc:

Frankie THAY (SPF)

Subject:

FW: Accident Involving Vehicles SLZ4633T & SDZ1669E & GBC963G DOA:

02/10/2019

Attachments:

SAS2679290.PDF

Message Classification: Unclassified

Ref: AEMD/105/009/2019/097

Hi,

Kindly arrange for survey for the vehicle SDZ1669E

DOA: 02/10/2019

Location:

Sin Ming Autocity 160 Sin Ming Drive #08-09 Singapore 575722

Tel: 64532121

Best Regards,

Hafizul Farhan Bin Rahmat AEMD / PLD <u>Singapore Police Force</u> DID: (65) 6478 4840 | FAX: (65) 6478 4848



WARNING "Privileged/Confidential information may be contained in this message. If you are not the intended addressee, you must not copy, distribute or take any action in reliance thereon. Communication of any information in this email to any unauthorized person is an offence under the Official Secrets Act (Cap 213). Please notify the sender immediately if you receive this in error."

From: Admin @ VAuG <admin@vinsautogroup.com.sg>

Sent: Wednesday, 2 October 2019 5:20 PM

To: Hafizul Farhan RAHMAT (SPF) < Hafizul_Farhan_RAHMAT@spf.gov.sg>

Cc: Frankie THAY (SPF) <Frankie_THAY@spf.gov.sg>

Subject: Accident Involving Vehicles SLZ4633T & SDZ1669E & GBC963G DOA: 02/10/2019

Good afternoon,

Please help us to arrange for survey for the vehicle SDZ1669E

DOA: 02/10/2019

Location: Sin Ming Autocity 160 Sin Ming Drive #08-09 Singapore 575722

Thanks!

Best Regards



Sin Ming AutoCity 160 Sin Ming Drive Singapore 575722

Showroom/Office: #03-03 Workshops: #08-08/09/10 Tel: 64532121 (4 lines)

Fax: 64599795

Website: www.vinsautogroup.com.sg
Email: admin@vinsautogroup.com.sg

Follow us on:



** w.e.f 15th May 2017, we have shifted location! **

^{**} w.e.f 20th November 2017, we have changed our email address! **

A Singapore Government Agency Website

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

ner ID Type:	Singapore NRIC	
wner ID: chicle Details	916J	
ehicle No.:	SDZ1669E	
Vehicle to be Exported:	No	
ntended Deregistration Date:	07 Oct 2019	
Vehicle Make:	TOYOTA	
Vehicle Model:	TOYOTA COROLLA ALTIS 1.6L CVT	
Primary Colour:	White	
Manufacturing Year:	2015	
Engine No.:	1ZRY204230	
Chassis No.:	MR053REH104537929	
Maximum Power Dutput:	90.0 kW (120 bhp)	
Open Market Value:	\$19,589.00	
Original Registration Date:	29 Jul 2015	
First Registration Date:	29 Jul 2015	
Fransfer Count:	0	
Actual ARF Paid: ntended PARF Rebate I	\$19,589.00 Details	
PARF Eligibility:	Yes	
PARF Eligibility Expiry Date:	28 Jul 2025	
PARF Rebate Amount: ntended COE Rebate D	\$14,691.00 etails	
OE Expiry Date:	28 Jul 2025	
COE Category:	A - Car up to 1600cc & 97kW (130bhp)	
COE Period(Years):	10	
QP Paid:	\$55,889.00	
OE Rebate Amount:	\$32,451.00	
otal Rebate Amount:	\$47,142.00	

The information contained herein is correct as at 07 Oct 2019

OK

SGCARMART.COM

Login Sign up

New Cars

Used Cars

Sell My Car

Directory Products Insurance

Articles

Forum

Resources

FREE VALUATION.

Be informed don't get lowballed.

Find out your car's worth today! Completely FREE!





toyota altis

Price Range

Depreciation

2015

Vehicle Type

Home » Used Cars » Car Buyers Automotive Pte Ltd » Toyota Corolla Altis 1.6A Classic

Toyota Corolla Altis 1.6A Classic

Overview

Financial

Insurance

Similar

Research

Photos

Map

PREMILIM AD

CAR BUYERS

Accessories

BY CAR BUYERS AUTOMOTIVE PTE LTD

\$63,800

Depreciation 🕛

\$10,020 /yr View models with similar depre **Reg Date**

29-Jun-2015

(5yrs 8mths 21days COE left)

Mileage

Price

48,900 km (11.4k /yr)

Manufactured 🗇

2015

Road Tax

Transmission

Auto \$17,804

Dereg Value 🕜

\$48,415 as of today (change)

OMV 🗇 ARF O

\$12,804

Engine Cap

COE

1,598 cc

\$67,749

\$742 /yr

Power

90.0 kW (120 bhp)

Curb Weight

1,205 kg

No. of Owners

Type of Vehicle

Mid-Sized Sedan

4-Cylinder In-Line 16-Valve DOHC Dual VVT-i Valvematic Coupled With 7-Speed (A) Super CVT-I With Sequential, High Torque Of 160Nm, Traction Control. View specs of the Toyota Corolla Altis (2014)

Accessories

Build-In Entertainment System, Reverse Camera+Sensors, Leather Seats, Auto Retract Mirrors, Bluetooth Interface, Sports Rim, Auto Climate Aircon.

Description

Full Agent Serviced Maintain By Borneo Motors, 1 Owner Only, Eco Driving Indicator And Graph System! Very Well Taken Care In Market! Zero Mishap! We Offer High Loan/ In House Financing, All Are Welcome Call Us For Serious Viewing Appointment Now.

Category

PARF Car, Premium Ad Car

Status

Available

Resources

id out the market value of your existing car for free. Get started

Compare

Report Error

Seller Information

Shortlist

Click on the point to view the vehicle

Compare

More Actions

Location Map

70K

65K Price(SGD)

Price Chart

Company

Car Buyers Automotive Pte

Add note

Summary

Car Valuation - Free

1 of 3



A Singapore Government Agency Website

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars

Owner ID Type:

Singapore NRIC

Owner ID:

916J

Vehicle Details

Vehicle No.:

SDZ1669E

Vehicle to be Exported:

No

Intended Deregistration Date:

04 Oct 2019

Vehicle Make:

TOYOTA

Vehicle Model:

TOYOTA COROLLA ALTIS 1.6L

CVT

Primary Colour:

White

Manufacturing Year:

2015

Engine No.:

1ZRY204230

Chassis No.:

MR053REH104537929

Maximum Power Output:

90.0 kW (120 bhp)

Open Market Value:

\$19,589.00

Original Registration Date:

29 Jul 2015

First Registration Date:

29 Jul 2015

Transfer Count:

Actual ARF Paid:

\$19,589.00

Intended PARF Rebate Details

PARF Eligibility:

Yes

PARF Eligibility Expiry Date:

28 Jul 2025

PARF Rebate Amount:

\$14,691.00

Intended COE Rebate Details

COE Expiry Date:

28 Jul 2025

COE Category:

A - Car up to 1600cc & 97kW

(130bhp)

COE Period(Years):

10

QP Paid:

\$55,889.00

COE Rebate Amount:

\$32,496.00

Total Rebate Amount:

\$47,187.00

The information contained herein is correct as at 03 Oct 2019

OK

MVA119130590 / Vin's Motor Pte Ltd - Sin Ming ENTRY DATE & TIME: 02/10/2019 15:41 SUBMITTED BY: Tan Yin Lei

SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

- 1. Please report correctly the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Policyholder and/or the Authorised Driver.
- 3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate policy liability.
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- 5. Any false reporting may be referred to the Police for investigation.
- 6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.
- 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available

	ACCIDENT STATEMENT
Date Of Report	02/10/2019 15:41
Date Of Accident	02/10/2019 12:15
Exact Location Of Accident	ALONG TELOK BLAGAH RD TWDS WEST COAST HIGHWAY
Country/State of Loss	SINGAPORE
	DETAIL O OF CHAIL VEHICLE

	DETAILS OF OWN VEHICLE	
Vehicle Registration Number	SDZ1669E	
Insured/Policyholder		
Name Of Registered Owner	LOH KOK ONN	
NRIC No	S0025916J	
Email Address	WENALDLOH@YAHOO.CO.UK	
Mobile Phone No	(LOCAL) +65-93273226	
Alternative Phone No	OFFICE-93273226	
Valida Bestleviless		

Vehic	0	Darti	C11	arc
A GLIIC	•	raiu	Cu	ar s

Manufacturer TOYOTA

Model TOYOTA COROLLA ALTIS 1.6L CVT

Exact Purpose for which vehicle was being used at

time of accident

Are you claiming under your own insurance policy

for repair to your vehicle?

NO

If No, Please state action to be taken

THIRD PARTY

Vehicle Category

PRIVATE CAR

Insurance Company

Name of Insurance Company TOKIO MARINE INSURANCE SINGAPORE LTD

Type Of Coverage COMPREHENSIVE

Fleet Policy NO

Policy Number MS009079

Cover Note Number

Drive

 Name of Driver
 LOH WEI HENG

 NRIC No
 \$8243805Z

 Date Of Birth
 30/12/1982

 Occupation
 INDOOR

 Date Of Driving Pass
 22/02/2006

Driving Experience 13 YEARS AND 7 MONTHS

Gender MALE

Mobile Number (LOCAL) +65-93273226

Fax Number Contact Number

EMail Address WENALDLOH@YAHOO.CO.UK

Address APT BLK 664A PUNGGOL DRIVE #11-212 Postcode

Was driver an employee of the Insured's Company NO

CHILDREN If No, Relationship of the Driver with the Insured

Vehicle Registration Number of Driver's Own

Vehicle

Insurance Company of Driver's Own Vehicle

General Information of the Accident

Type Of Accident CHAIN COLLISION

Weather Conditions CLEAR Road Surface DRY

Other Information

Was any foreign vehicle involved in this accident? NO

Number of vehicles (including own vehicle)

involved in the accident

Was any body injured in the Accident?

Was any injured conveyed to hospital by

ambulance?

Was any other material or property damaged? NO

I have been approached by unknown person(s) NO soliciting/offering accident claims assistance.

Number of Passengers (Including Driver)

Details of Police Action

Was the accident reported to the police? NO

If Yes, Please state which Police Station

Was notice of intended Prosecution given?

If Yes, against whom?

Circumstances of Accident

Same as sketch plan

Attachment(s)

Are accident photos available for attachment?

YES

3

NO

1

NO

Was there any video captured by Car Camera?

YES

Was there any audio recorded?

NO

Sketch Plan Pg. 1

SKETCH PLAN

IMPORTANT NOTICE

g 9 n 8

- 1. Please report correctly the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Policyholder and/or the Authorised Driver.
- 3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or withholding of material facts may allow insurance companies to repudiate policy liability.
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance
- 5. Any false reporting may be referred to the Police for investigation.
- 6. The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties.
- 7. By the lodgment of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 8. Consent under the Personal Data Protection Act (PDPA)

l understand, acknowledge, agree and consent that:

- (a) My insurer, my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this [form] and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "Insurers"), the insurers' lawyers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s)
 - (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims,
 - (ii) investigating the accident and/or my claims;
 - (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me;
 - (iv) administering my claims (including the mailing of correspondence, statements, involces, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail packages); and/or
 - (v) complying with applicable law in administering, processing, handling and/or dealing with my claims (collectively the "Purposes")
- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the insurers' lawyers/law firms, may/are permitted to collect, use, disclose and/or process my Personal information for one or more of the above Purposes; and
- (c) my Personal Information may/can be disclosed by any of the Insurers and/or GIA to their third party service providers or agents(including their lawyers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes.
- (d) my Personal Information will also be collected and used to compile claims history for the purpose of fraud detection, investigation and management in present and all future claims
- (e) the information so collected under (d) above may be shared / disclosed:
 - (i) to all insurers and/or any other third parties that assist in evaluating, investigating, controlling or managing fraud, regulators, law enforcement and government agencies as reasonably required for the purposes stated, or
 - (ii) for complying with requirements under any regulations, laws or court orders.

Policyholder's Signature

Date & Time:

Driver's Signature

(If driver is not the policyholder)

Date & Time;

Reporting Centre Personal Signature

NRIC/FIN No.;

Sketch Plan Pg. 2

SKETCH PLAN

1 1 1	7 7 1	
	40	A: SDZ1669E
	4	B: GB C963G
	A 0	C= SL7 4633T

DESCRIBE CIRCUMSTANCES OF THE ACCIDENT

tenards W due to impact fr Vehicle to	lest coast the red	Highway lights. All rear- The	at the	Second Judden, I	right lan I felt a	С
due to impact fr Vehicle to	the red	lights. All	of a s	udden, :	I felt a	
impact fr Véhicle to	rom my					27
Vehicle to		rear. The	e impac	f como	va)	
			7	Lows	ed my	
6 - 100	move	forward at	nd hit	onto th	e rehicle	
SLZ4633	T. After	I alighted	from	my ve	Hicle, I	
realized	the var	GBC 963	G hit	onto m	y vehicle.	
It was	a chain	collision.				

I/We declare the foregoing particulars are true in every respect.

Palicyholder's Signature Date & Time:

Driver's Signature (If driver is not the policyholder) Date & Time:

Reporting Centre Personnelle Signature Name: NRIC/FIN No.:



Sin Ming Autocity, 160 Sin Ming Drive #03-03 Singapore 575722

T 6453 2121 (4 lines) / 6458 1111 (24 hrs)

6459 9795 / 6459 0433

E admin@vinsautogroup.com.sg

w www.vinsautogroup.com.sg

Our Ref : TP/102019/4077

Accident date: 2/10/2019

Your Ref : GBC963G Tax Invoice:

Date : 3/10/2019

SPF Accident Claims Section Automotive Engineering & Management Division Police Logistic Department 1 Mount Pleasant Rd Block 8 Old Police Academy #02-12 Singapore 298333

ESTIMATE COST OF REPAIRS TO

Vehicle No.: SDZ1669E

Model: TOYOTA COROLLA ALTIS 1.6L CVT

1	pc	Front bonnet	\$ 1,028.10 RY
2	pcs	Front bonnet hinge @ \$55.90	\$ 111.80₹۶
1	pc	Front bonnet rubber	\$ 27.70×
1	pc	Front bonnet insulator	\$ 253.19×
6	pcs	Front bonnet insulator clips @ \$3.00	\$ 18.00×
1	pc	Front bonnet lock	\$ 128.90 ₹۶
1	pc	Front grille with emblem	\$ 442.95 (
2	pcs	Front headlamp @ \$2814.50	\$ 5,629.00 H-M-?
2	pcs	Front headlamp HID bulb @ \$32.70	\$
1	pc	Front bumper	\$ 458.00 de
1	pc	Front bumper lower centre grille	\$ 132.90?
2	pcs	Front bumper fog lamp @ \$248.20	\$ 496.40 ⊀
2	pcs	Front bumper fog lamp cover @ \$133.90	\$ 267.80×
2	pcs	Front bumper side retainer @ \$	\$ 55.90 M
1	pc	Front bumper reinforcement	\$ 379.20 ?
1	pc	Front bumper under cover	\$ 133.80×
10	pcs	Front bumper under cover clips @ \$3.00	\$ 30.00 ×
1	pc	Front support panel	\$ 788.60 kg 7.
1	pc	Front brace panel	\$ 120.90 Kr
1	pc	Front air cond condenser	\$ 1,048.204 7
1	pc	Front radiator	\$ 1,490.20 ×
1	pc	Front radiator fan motor	\$ 362.00 ≺
		Balance C/F	\$ 13,468.94



A Sin Ming Autocity, 160 Sin Ming Drive #03-03 Singapore 575722

T 6453 2121 (4 lines) / 6458 1111 (24 hrs)

F 6459 9795 / 6459 0433

E admin@vinsautogroup.com.sg

w www.vinsautogroup.com.sg

Our Ref : TP/102019/4077

Accident date: 2/10/2019

Your Ref : GBC963G

Tax Invoice:

Date : 3/10/2019

		Balance B/F	\$ 13,468.94
1	рс	Front radiator fan cowlng	\$ 232.00×
1	pc	Front radiator fan blade	\$ 129.30 ≺
1	pc	Rear boot lid	\$ 655.50 bt
1	pc	Rear boot lid emblem	\$ 52.15
1	pc	Rear boot lid "Corolla" name plate	\$ 42.35 war
1	pc	Rear boot lid "Altis" name plate	\$ 44.15
2	pcs	Rear boot lid reflector @ \$299.80	\$ 599.60 cm
1	pc	Rear boot lid outer chrome moulding	\$ 301.00 ?
1	pc	Rear boot lid no. plate light	\$ 62.90×
1	pc	Rear boot lid reverse camera	\$ 350.00 ≺
2	pcs	Rear boot lid hinge @ \$60.20	\$ 120.40₺%
1	pc	Rear boot lid inner trim	\$ 349.00⊀
15	pcs	Rear boot lid inner trim clips @ \$3.00	\$ 45.00 ×
1	pc	Rear boot lid lock	\$ 339.00 H
1	pc	Rear boot lid rubber	\$ 166.40/
2	pcs	Rear tail lamp @ \$301.60	\$ 603.20 04-
2	pcs	Rear tail lamp lower bracket @\$83.60	\$ 167.20 de-
1	pc	Rear bumper	\$ 482.00 de
2	pcs	Rear bumper reverse sensor @ \$170.00	\$ 340.00 200 nu
2	pcs	Rear bumper reflector @ \$56.90	\$ 113.80 ×
1	pc	Rear bumper side retainer	\$ 92.33
1	pc	Rear bumper reinforcement	\$ 301.60 56
2	pcs	Rear bumper inner shield @ \$66.90	\$ 133.80 ×
1	pc	Rear end panel	\$ 581.20
1	pc	Rear end panel top trim	\$ 229.40 de
2	pcs	Rear fender @ \$1028.00	\$ 2,056.00 LH-bu(,RH-X
2	pcs	Rear fender inner shield @ \$108.20	\$ 216.40 7
		Balance C/F	\$ 22,274.62



Sin Ming Autocity, 160 Sin Ming Drive #03-03 Singapore 575722

T 6453 2121 (4 lines) / 6458 1111 (24 hrs)

6459 9795 / 6459 0433

admin@vinsautogroup.com.sg

www.vinsautogroup.com.sg

Our Ref : TP/102019/4077

Accident date: 2/10/2019

Your Ref : GBC963G Tax Invoice:

Date : 3/10/2019

		Balance B/F	\$ 22,274.62
			80.00 res
20	pcs	Rear fender inner shield clips @ \$4.00	\$ 80.00
1	pc	Rear fender inner trim	\$ 355.20?
20	pcs	Rear fender inner trim clips @ \$3.10	\$ 62.00
1	pc	Spare tyre panel	\$ 702.93 K>
1		Spare tyre top cover	\$ 254.90 04
1	pc	Exhaust sileneer	\$ 782.00 ? plusto
			\$ 24,511.65
		Less: 25%	\$ (6,127.91)
			\$ 18,383.74
1	pc	Front no. plate	\$ 40.00 Nbt-

1	pc	Front no. plate	\$ 40.00	Nho
1	pc	Rear windsreen glass gum		N nei
1	pc	Rear no. plate	\$ 40.00	N bt

To remove and refix rear windscreen To remove and refix petrol tank

To remove and refix seat cushion and roof

lining To refill air cond gas

To repair rear and front damages

To spray painting (Pearl)

150.00 120.

150.00 ×

180.00 60.

120.00 100 ?

1,800.00 /400

1,800.00 / 600

VIN'S MOTOR PTE LTD



: TP/102019/4077

Accident date: 2/10/2019

Your Ref

Our Ref

: GBC963G

SPF Accident Claims Section

Automotive Engineering & Management Division vey before/after spray painting

Police Logistic Department

1 Mount Pleasant Rd

Block 8 Old Police Academy #02-12

Singapore 298333

ESTIMATE COST OF REPAIRS TO

Vehicle No.: SDZ1669E

Model: TOYOTA COROLLA ALTIS 1.6L CVT

Sin Ming Autocity, 160 Sin Ming Drive #03-03 Singapore 575722

6453 2121 (4 lines) / 6458 1111 (24 hrs)

6459 9795 / 6459 0433

admin@vinsautogroup.com.sg

www.vinsautogroup.com.sg

Tax Invoice:

Date : 3/10/2019

LKK Auto Consultants hence notify the Repairer of the following:

To display damaged part(s) during resurvey

- * Parts prices are subject to confirmation
- * Third party survey is on a "Without Prejudice" basis
- . No illegal modification(s) is allowed
- . Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date:

1	pc	Front bonnet	\$ 1,028.10 RY
2	pcs	Front bonnet hinge @ \$55.90	\$ 111.80 €>
1	pc	Front bonnet rubber	\$ 27.70×nn
1	pc	Front bonnet insulator	\$ 253.19 x nn
6	pcs	Front bonnet insulator clips @ \$3.00	\$ 18.00 × ^^ -
1		Front bonnet lock	\$ 128.90 ₹%
1	pc	Front grille with emblem	\$ 442.95 (
2	pcs	Front headlamp @ \$2814.50 1890.40	\$ 5,629.0024-cm, RH-?578
2	pcs	Front headlamp HID bulb @ \$32.70	\$ 65.40 × nn
1	pc	Front bumper	\$ 458.00 de
1	pc	Front bumper lower centre grille 🥱	\$ 132.90?.
2	pcs	Front bumper fog lamp @ \$248.20	\$ 496.40 × nn
2	pcs	Front bumper fog lamp cover @ \$133.90	\$ 267.80× ~~ `
2	pcs	Front bumper side retainer @ \$	\$ 55.90 ~~
1	pc	Front bumper reinforcement 1/	\$ 379.20?
1	pc	Front bumper under cover	\$ 133.80×nn
10	pcs	Front bumper under cover clips @ \$3.00	\$ 30.00 × m
1		Front support panel 64/	\$ 788.60 7
1	pc	Front brace panel	\$ 120.90 8>
1	pc	Front air cond condenser 4/	\$ 1,048.20\$ 7,~
1	pc	Front radiator &/	\$ 1,490.20 × ✓
1	pc	Front radiator fan motor	\$ 362.00×nn-
		Balance C/F	\$ 13,468.94



Sin Ming Autocity, 160 Sin Ming Drive #03-03 Singapore 575722

6453 2121 (4 lines) / 6458 1111 (24 hrs)

6459 9795 / 6459 0433

admin@vinsautogroup.com.sg

www.vinsautogroup.com.sg

Our Ref

: TP/102019/4077

Accident date: 2/10/2019

Your Ref

: GBC963G

Tax Invoice:

Date

: 3/10/2019

			Balance B/F	\$ 13,468.94
	1	pc	Front radiator fan cowlng	\$ 232.00 × ∿¬
	1	pc	Front radiator fan blade	\$ 129.30 × ~~
	1	pc	Rear boot lid	\$ 655.50 64_
	1	pc	Rear boot lid emblem	\$ 52.15
	1	pc	Rear boot lid "Corolla" name plate	\$ 42.35 00-
	1	pc	Rear boot lid "Altis" name plate	\$ 44.15
	2	pcs	Rear boot lid reflector @ \$299.80	\$ 599.60 cm
	1	pc	Rear boot lid outer chrome moulding 🗸	\$ 301.00 ?/
	1	pc	Rear boot lid no. plate light	\$ 62.90×ng
1	1	pc	Rear boot lid reverse camera ?	\$ 350.00≯ м^.
	2	pcs	Rear boot lid hinge @ \$60.20	\$ 120.40₹∞
	1	pc	Rear boot lid inner trim	\$ 349.00×nn
	15	pcs	Rear boot lid inner trim clips @ \$3.00	\$ 45.00 × ^^
	1	pc	Rear boot lid lock	\$ 339.00 <i>H</i> -
	1	pc	Rear boot lid rubber	\$ 166.40/~!
	2	pcs	Rear tail lamp @ \$301.60	\$ 603.20 cm
	2	pcs	Rear tail lamp lower bracket @ \$83.60	\$ 167.20 de-
	1	pc	Rear bumper	\$ 482.00 de
	2	pcs	Rear bumper reverse sensor @ \$170.00	\$ 340.00 200nu
A	2	pcs	Rear bumper reflector @ \$56.90 LH 3W/RH-X M	\$ 113.80 × 56.90.
	1	pc	Rear bumper side retainer	\$ 92.33
	1	pc	Rear bumper reinforcement	\$ 301.60 56
	2	pcs	Rear bumper inner shield @ \$66.90	\$ 133.80 × N/A.
	1	pc	Rear end panel	\$ 581.20 4
	1	pc	Rear end panel top trim	\$ 229.40 de
	2	pcs	Rear fender @ \$1028.00	\$ 2,056.00 L4-buc , R4-Xn
	2	pcs	Rear fender inner shield @ \$108.20 Cd/F	\$ 216.40 7
			Balance C/F	\$ 22,274.62



Sin Ming Autocity, 160 Sin Ming Drive #03-03 Singapore 575722

6453 2121 (4 lines) / 6458 1111 (24 hrs)

6459 9795 / 6459 0433

admin@vinsautogroup.com.sg

www.vinsautogroup.com.sg

Our Re	f : TP/102019/4077 nt date: 2/10/2019	Tax Invoice		www.virisadrogroup.com.sg
Your R		Date	: 3/1	10/2019
	Balance B/F		\$	22,274.62
20 pc	s Rear fender inner shield clips @ \$	64.00	\$	80.00 res
	c Rear fender inner trim		\$	355.20?
1	s Rear fender inner trim clips @ \$3.	10 6-	\$	62.00 7
	c Spare tyre panel		\$	702.93 KY
1	c Spare tyre top cover		\$	254.90 cm
	c Exhaust sileneer		\$	782.00 ? plusto /
- P	E Extrader Shericer X/		\$	24,511.65
	Less: 25%		\$, 0 , - /
	200. 20 /0		\$	(6,127.91) 18,383.74
1 p	c Front no. plate		\$	40.00 N 66
1 p	c Rear windsreen glass gum		\$	60.00 N Ne
	c Rear no. plate		\$	40.00 N 66 60.00 N 66 40.00 N 6t 140.
	To remove and refix rear windsc	reen	\$	150.00 (20-
	To remove and refix petrol tank		\$	150.00 ×
	To remove and refix seat cushion	n and roof	\$	180.00 60
	lining			-/
	To refill air cond gas		\$	120.00
	To repair rear and front damages	S	\$	1,800.00 /400
	To spray painting (Pearl)		\$	1,800.00 / 600.
	1 11 00		\$	22,723.74
		Lin 024	aran	6 /121110474

VIN'S MOTOR PTE LTD

Resulting before repair SUPCE Thranks. with

12171.92 140 3280 15591.92. 15912500

Veron Chen (LKKAuto)

From:

Veron Chen (LKKAuto)

Sent:

Friday, 8 November 2019 12:02 PM

To:

'Admin @ VAuG'; SUR

Subject:

RE: SDZ1669E - SPF TP - DOA: 02/10/2019 - Cost of Repair

Attachments:

MARKING.pdf

Dear Raymond,

WITHOUT PREJUDICE

For claims against Singapore Police Force, we have instruction not to finalise any COR.

However, please be informed that we will submit our recommendation as per our surveyor marking in the estimate.

Best Regards,

Veron Chen | Case Handler

LKK Auto Consultants Pte Ltd

Phone: 6256-3561 | email :sur@lkkauto.com | fax: 6256-4315

Blk 51, Paya Ubi Industrial Park, Ubi Avenue 1, #02-25 | S(408933)

From: Veron Chen (LKKAuto)

Sent: Thursday, 24 October 2019 7:46 AM

To: Admin @ VAuG <admin@vinsautogroup.com.sg>; SUR <sur@lkkauto.com>

Subject: RE: SDZ1669E - SPF TP - DOA: 02/10/2019 - Cost of Repair

Dear Raymond,

Surveyor is on leave.

Will revert to you.

Best Regards,

Veron Chen | Case Handler

LKK Auto Consultants Pte Ltd

Phone: 6256-3561 | email :sur@lkkauto.com | fax: 6256-4315

Blk 51, Paya Ubi Industrial Park, Ubi Avenue 1, #02-25 | S(408933)

From: Admin @ VAuG <a driven and various a

Sent: Wednesday, 23 October 2019 1:35 PM

To: SUR <sur@lkkauto.com>

Subject: SDZ1669E - SPF TP - DOA: 02/10/2019 - Cost of Repair

Good afternoon,

Can we confirm the cost of repair?

Thanks! Best regards Raymond Teo



Sin Ming AutoCity 160 Sin Ming Drive Singapore 575722

Showroom/Office: #03-03 Workshops: #08-08/09/10 Tel: 64532121 (4 lines)

Fax: 64599795

Website: www.vinsautogroup.com.sg
Email: admin@vinsautogroup.com.sg

Follow us on:



** w.e.f 15th May 2017, we have shifted location! **

^{**} w.e.f 20th November 2017, we have changed our email address! **



5b.

ESTIMATED NORMAL PERIOD FOR REPAIR:

LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

		151							
		Affiliated to Federation Internation	onale Des Experts En Automo	obile					
AUT	AUTOMOTIVE ENGINEERING & MGT DIVISION Ref : CS/SPF19017458/T1vd3e2								
FOF POL	RCE) 1 MOUNT PL	CTION (SPORE POLICE EASANT ROAD BLK 8 OLD NGAPORE 298333	Date: 25-11-2019 Code: SPF						
	1. Policy Particulars :- THIRD PARTY CLAIM								
	Insured Veh.	GBC 963G	Veh. Inspected	SDZ 1669E					
	Policy No.	The second of the second second	Coverage (\$)	0.00					
	Claim No.	AEMD/105/009/2019/097	Excess (\$)	0.00					
	Assign From	HAFIZUL FARHAN	Assign Date	03/10/2019					
2.		Vehicle Part	iculars & Condition						
	Make & Model	TOYOTA ALTIS	c.c	1598					
	Engine No.	HIDDEN	Year of Reg.	2015					
	Chassis No.	MR053REH104537929	Colour	WHITE					
	Odometer	59109	Steering	IN ORDER					
	Brakes	IN ORDER	Modification	SPORTS RIM					
	General	GOOD							
3.		Condi	tions of Tyres						
		Size	Make	Balance					
	R/H Front Tyre	205/55 R16	YOKOHAMA	6 mm					
	L/H Front Tyre	205/55 R16	YOKOHAMA	6 mm					
	R/H Rear Tyre	205/55 R16	YOKOHAMA	6 mm					
	L/H Rear Tyre	205/55 R16	YOKOHAMA	6 mm					
4.		Descript	ion of Damages						
	THE VEHICLE SU	STAINED DAMAGES AT THE F	RONT AND REAR PORTIO	N.					
	DAMAGES SEE D	ETAILS.							
5.		Gener	al Information						
	Accident Date	02/10/2019	Inspection Date	03/10/2019					
	Survey held at	160 SIN MING DRIVE #08-09							
	Repairer VIN'S MOTOR PTE LTD								
5a.		F	Remarks						
	A)THE INSPECTION	ON WAS CONDUCTED ON A"WI	THOUT PREJUDICE" BASI	S.					
100,000	B)IN ACCORDANCE TO YOUR INSTRUCTIONS, WE HAVE NOT AUTHORISED REPAIRS.								

Estimate Days of Repair

10 Working Days



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 3

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SDZ 1669E

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BONNET	TO REPAIR SEE LABOUR	1,028.10	
2	FRONT BONNET HINGE @55.90	TO REPAIR SEE LABOUR	111.80	1.5
1	FRONT BONNET RUBBER	NOT NECESSARY	27.70	9
1	FRONT BONNET INSULATOR	NOT NECESSARY	253.19	1/2
6	FRONT BONNET INSULATOR CLIPS @\$3.00	NOT NECESSARY	18.00	19
1	FRONT BONNET LOCK	TO REPAIR SEE LABOUR	128.90	8
1	FRONT GRILLE WITH EMBLEM	CRACKED	442.95	442.95
2	FRONT HEADLAMP @\$2814.50	CRACKED	5,629.00	3,780.80
2	FRONT HEADLAMP HID BULB @\$32.70	NOT NECESSARY	65.40	19
1	FRONT BUMPER	DEFORMED	458.00	458.00
1	FRONT BUMPER LOWER CENTRE GRILLE	CRACKED	132.90	132.90
2	FRONT BUMPER FOG LAMP @\$248.20	NOT NECESSARY	496.40	20
2	FRONT BUMPER FOG LAMP COVER @\$133.90	NOT NECESSARY	267.80	
2	FRONT BUMPER SIDE RETAINER	NECESSARY	55.90	55.90
1	FRONT BUMPER REINFORCEMENT	BENT	379.20	379.20
1	FRONT BUMPER UNDER COVER	NOT NECESSARY	133.80	8
10	FRONT BUMPER UNDER COVER CLIPS @\$3.00	NOT NECESSARY	30.00	
1	FRONT SUPPORT PANEL	BENT	788.60	788.60
1	FRONT BRACE PANEL	TO REPAIR SEE LABOUR	120.90	9
1	FRONT AIR COND CONDENSER	BENT	1,048.20	1,048.20
1	FRONT RADIATOR	BENT	1,490.20	1,490.20
1	FRONT RADIATOR FAN MOTOR	NOT NECESSARY	362.00	8
1	FRONT RADIATOR FAN COWLING	NOT NECESSARY	232.00	8
1	FRONT RADIATOR FAN BLADE	NOT NECESSARY	129.30	
1	REAR BOOT LID	BENT	655.50	655.50
1	REAR BOOT LID EMBLEM	NECESSARY	52.15	52.1
1	REAR BOOT LID "COROLLA" NAME PLATE	NECESSARY	42.35	42.3
1	REAR BOOT LID "ALTIS" NAME PLATE	NECESSARY	44.15	44.1
2	REAR BOOT LID REFLECTOR @\$299.80	CRACKED	599.60	599.60
1	REAR BOOT LID OUTER CHROME MOULDING	CRACKED	301.00	301.00
1	REAR BOOT LID NO. PLATE LIGHT	NOT NECESSARY	62.90	8

Report Ref No. CS/SPF19017458/T1vd3e2



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
1	REAR BOOT LID REVERSE CAMERA	NOT NECESSARY	350.00	=
2	REAR BOOT LID HINGE @\$60.20	TO REPAIR SEE LABOUR	120.40	1
1	REAR BOOT LID INNER TRIM	NOT NECESSARY	349.00	-
15	REAR BOOT LID INNER TRIM CLIPS @\$3.00	NOT NECESSARY	45.00	
1	REAR BOOT LID LOCK	BENT	339.00	339.00
1	REAR BOOT LID RUBBER	TWISTED	166.40	166.40
2	REAR TAIL LAMP @\$301.60	CRACKED	603.20	603.20
2	REAR TAIL LAMP LOWER BRACKET @\$83.60	DEFORMED	167.20	167.20
1	REAR BUMPER	DEFORMED	482.00	482.00
2	REAR BUMPER REVERSE SENSOR @\$170.00	NOT WORKING	340.00	200.00
2	REAR BUMPER REFLECTOR @\$56.90	N/S SCRATCHED / O/S NOT NECESSARY	113.80	56.90
1	REAR BUMPER SIDE RETAINER	NECESSARY	92.33	92.33
1	REAR BUMPER REINFORCEMENT	BENT	301.60	301.60
2	REAR BUMPER INNER SHIELD @\$66.90	NOT NECESSARY	133.80	
1	REAR END PANEL	BENT	581.20	581.20
1	REAR END PANEL TOP TRIM	DEFORMED	229.40	229.40
2	REAR FENDER @\$1028.00	N/S BUCKLED / O/S NOT NECESSARY	2,056.00	1,028.00
2	REAR FENDER INNER SHIELD @\$108.20	CUT	216.40	216.40
20	REAR FENDER INNER SHIELD CLIPS @\$4.00	NECESSARY	80.00	40.00
1	REAR FENDER INNER TRIM	CUT	355.20	355.20
20	REAR FENDER INNER TRIM CLIPS @\$3.10	NECESSARY	62.00	62.00
1	SPARE TYRE PANEL	TO REPAIR SEE LABOUR	702.93	
1	SPARE TYRE TOP COVER	CRACKED	254.90	254.90
1	EXHAUST SILENCER	BENT	782.00	782.00
	LESS 25% DISCOUNT		-6,127.91	-4,057.3
			18,383.74	12,171.93
	SPECIAL NETT ITEMS			
1	FRONT NO. PLATE (SN)	BENT	40.00	40.00
1	REAR WINDSCREEN GLASS GUM (SN)	NECESSARY	60.00	60.00
1	REAR NO. PLATE (SN)	BENT	40.00	40.00
	- 10 M		140.00	140.00



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	LABOUR			
	TO REMOVE AND REFIX REAR WINDSCREEN.		150.00	120.00
	TO REMOVE AND REFIX PETROL TANK.	NOT NECESSARY	150.00	
	TO REMOVE AND REFIX SEAT CUSHION AND ROOF LINING.		180.00	60.00
	TO REFILL AIR COND GAS.		120.00	100.00
	TO REPAIR REAR AND FRONT DAMAGES. INCLUSIVE OF THE REPAIR OF FRONT BONNET, FRONT BONNET HINGE, FRONT BONNET LOCK, FRONT BRACE PANEL, REAR BOOT LID HINGE AND SPARE TYRE PANEL.		1,800.00	1,400.00
	TO SPRAY PAINTING (PEARL).		1,800.00	1,600.00
	* "		4,200.00	3,280.00
	GRAND TOTAL		22,723.74	15,591.92

RECOMMENDED COST OF LUMP SUM REPAIRS	12,500.00
(TO ITS PRE-ACCIDENT CONDITION)	

Report Ref No. CS/SPF19017458/T1vd3e2

NOTES: THE ESTIMATED UPPER RANGE OF REPAIR COST FOR THE DAMAGED VEHICLE IS IN THE REGION OF \$12,500-\$13,000

RECOMMENDED REPAIR DAYS: 10

WEEKEND: 2 TOTAL DAYS: 12

MOHAMAD TAUFIKH

M.MATAI, AMSAE-A Automotive Assessor ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.